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(18+20+17+26)+(3+5+7+12)=3

18-12=6 » 6=3+3
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40x+10=35x+115

5x=105 » x=21

B HEE=21x40+10=850(f4)
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5. 1Ifa, b, and c are prime numbers and a+b+c+abc=99, then what is the value of
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6. Ifa,b, and c are real numbers and satisfied (a+b)(b+c)(c+a)=0, abc<0, then what is the
value of ?(A)0 (B)-1 (O)1 (D)-3
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8. Throw the dice twice in a row, and the numbers of points that appear are a and b. What is
the probability of a’b >107? (A)75% (B) 80% (C) 70% (D) 85%
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= a=1>b>10C~E) ;B a=2 > b=3 45> 6(4 f&)
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xx2+2016=20x2+2016 =2056

. ——(x+1008)+1911= x+105+1911 =
1008 1008 2016
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(3333+4444+5555+6666)x6=119988 -

6. If va®+2005 is positive integer, then what is the sum of all the possible values of a which
satisfies the condition? (a must be positive integer)

B 2005 S EREH + BRSO B R4, o MR B2
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Va®> +2005 =b—> a*> +2005=b>—>b* —a’ =2005
(b+a)b—a)=2005=2005x1=401x5

b+a=2005
{b —a=1
i T EEEY a BYA1=1002+198=1200

>(a > b)=(1002 > 1003) = {’”“ 5@ by=(198 » 203)
a=
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10-2-2-1=5 » H+H=5

(0104)(1004) (0113) (0131) (0122) ~ (0212) (0221) (0203) ~ (0311)(0302)(0320)

(0410) (0401) ~ (1013)(1031)(1022) ~ (1130) (1112) (1121) (1103) ~ (1211) (1220)(1202)
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2020=1%2020=2x1010=4%x505=5%x404=10%202=20x%101

SAfAE: 2020=22 x5x101 » (2'+22)(5° +5")(101° +101' )=»2x2x2=8
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